

New Family of Integral Operators of Meromorphic Functions

Aabed Mohammed¹ and Maslina Darus²

^{1,2}School of Mathematical Sciences,
Faculty of Science and Technology,
Universiti Kebangsaan Malaysia
43600 Bangi, Selangor D. Ehsan,
Malaysia

¹aabedukm@yahoo.com

²maslina@ukm.my

Abstract. We define here an integral operator $I_n(f_i, g_i)(z)$ for meromorphic functions in the punctured open unit disk. Some properties for this operator are derived.

Keywords: analytic function, meromorphic function, starlike function, convex function, integral operator.

AMS Mathematics Subject Classification: 30C45

²-corresponding author

1 Introduction

Let Σ denote the class of functions of the form

$$f(z) = \frac{1}{z} + \sum_{n=0}^{\infty} a_n z^n, \quad (1.1)$$

which are analytic in the punctured open unit disk

$$U^* = \{z \in \mathbb{C} : 0 < |z| < 1\} = U \setminus \{0\}, \quad (1.2)$$

where U is the open unit disk $U = \{z \in \mathbb{C} : |z| < 1\}$.

We say that a function $f \in \Sigma$ is meromorphic starlike of order δ ($0 \leq \delta < 1$), and belongs to the class $\Sigma^*(\delta)$, if it satisfies the inequality

$$-\Re \left(\frac{zf'(z)}{f(z)} \right) > \delta. \quad (1.3)$$

A function $f \in \Sigma$ is a meromorphic convex function of order δ ($0 \leq \delta < 1$), if f satisfies the following inequality

$$-\Re \left(1 + \frac{zf''(z)}{f'(z)} \right) > \delta, \quad (1.4)$$

and we denote this class by $\Sigma_k(\delta)$.

For $f \in \Sigma$, Wang et al. [13] (see also [14]) introduced and studied the subclass $\Sigma_N(\lambda)$ of Σ consisting of functions $f(z)$ satisfying

$$-\Re \left(\frac{zf''(z)}{f'(z)} + 1 \right) < \lambda \quad (\lambda > 1, z \in \mathbb{U}).$$

In the literature, several integral operators of meromorphic functions in the punctured open unit disk have been investigated and studied by many authors (cf., e.g., [1-11]).

For $i = 1, 2, \dots, n$, $c > 0$, and $\alpha_i, \gamma_i \geq 0$, we now, introduce a generalized integral operator $I_n(f_i, g_i)(z) : \Sigma^n \rightarrow \Sigma$ as follows

$$I_n(f_i, g_i)(z) = \frac{c}{z^{c+1}} \int_0^z u^{c-1} \prod_{i=1}^n (u f_i(u))^{\alpha_i} (-u^2 g_i'(u))^{\gamma_i} du, \quad (1.5)$$

where $f_i, g_i \in \Sigma$. Indeed, by varying the parameters c , α_i and γ_i , the operator $I_n(f_i, g_i)$ reduces to the following well-known integral operators.

(i) for $\gamma_i = 0$, we obtain the integral operator

$$H(z) = I_n(f_i)(z) = \frac{c}{z^{c+1}} \int_0^z u^{c-1} \prod_{i=1}^n (u f_i(u))^{\alpha_i} du, \quad (1.6)$$

introduced by Frasin [8].

(ii) For $c = 1$ and $\gamma_i = 0$, we obtain the integral operator

$$\mathcal{H}_n(z) = I_n(f_i)(z) = \frac{1}{z^2} \int_0^z \prod_{i=1}^n (u f_i(u))^{\alpha_i} du, \quad (1.7)$$

introduced by Mohammed and Darus [9].

(iii) For $c = 1$ and $\alpha_i = 0$, we obtain the integral operator

$$\mathcal{H}_{\gamma_1, \dots, \gamma_n}(z) = I_n(g_i)(z) = \frac{1}{z^2} \int_0^z \prod_{i=1}^n (-u^2 g_i'(u))^{\gamma_i} du, \quad (1.8)$$

introduced by Mohammed and Darus [10]

(iv) If $n = 1$, $\alpha_1 = 1$, $f_1 = f$ and $\gamma_1 = 0$ we have the integral operator

$$I_c(f)(z) = \frac{c}{z^{c+1}} \int_0^z u^{c-1} f(u) du,$$

which was studied by many authors (cf., e.g., [1, 2, 6]).

For the starlikeness of the integral operator $I_n(f_i, g_i)$, we have to recall here the following Lemma.

Lemma 1.1([12]). *Suppose that the function $\Psi : \mathbb{C}^2 \rightarrow \mathbb{C}$ satisfies the following condition:*

$$\Re\{\Psi(is, t)\} \leq 0, \quad \left(s, t \in \mathcal{R}; t \leq \frac{-(1+s^2)}{2}\right).$$

If the function $p(z) = 1 + p_1z + \dots$, is analytic in \mathbf{U} and

$$\Re\{\Psi(p(x), zp'(x))\} > 0, \quad (z \in \mathbf{U}),$$

then

$$\Re\{p(z)\} > 0 \quad (z \in \mathbf{U}).$$

2 Main Results

In the next theorem, we place conditions for the meromorphically starlikeness of the integral operator $I_n(f_i, g_i)(z)$ which is defined in (1.5).

Theorem 2.1. *For $i = 1, 2, \dots, n$, let $f_i, g_i \in \Sigma$, $\alpha_i, \gamma_i \geq 0$ and let $c > 0$. If $f_i \in \Sigma^*$, $g_i \in \Sigma_k$, and $\sum_{i=1}^n (\alpha_i + \gamma_i) = 1$, then the general integral operator $I_n(f_i, g_i)(z)$ belongs to the meromorphic starlike function class.*

Proof. From (1.5) it follows that

$$z^2 I_n'(f_i, g_i)(z) + (c+1)z I_n(f_i, g_i)(z) = c \prod_{i=1}^n (z f_i(z))^{\alpha_i} \left(-z^2 g_i'(z)\right)^{\gamma_i} \quad (2.1)$$

Differentiating both sides of (2.1) logarithmically and multiplying by z , we obtain

$$\begin{aligned} & \frac{z^2 I_n''(f_i, g_i)(z) + (c+3)z I_n'(f_i, g_i)(z) + (c+1)I_n(f_i, g_i)(z)}{z I_n'(f_i, g_i)(z) + (c+1)I_n(f_i, g_i)(z)} \\ &= \sum_{i=1}^n \alpha_i \frac{z f_i'(z)}{f_i(z)} + \sum_{i=1}^n \gamma_i \left(\frac{z g_i''(z)}{g_i'(z)} + 1 \right) + \sum_{i=1}^n \alpha_i + \sum_{i=1}^n \gamma_i. \end{aligned} \quad (2.2)$$

Which is equivalent to

$$\frac{z^2 I_n''(f_i, g_i)(z) + (c+2)z I_n'(f_i, g_i)(z)}{z I_n'(f_i, g_i)(z) + (c+1)I_n(f_i, g_i)(z)}$$

$$= \sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i). \quad (2.3)$$

We can write (2.3) as the following

$$\frac{\frac{zI_n'(f_i, g_i)(z)}{I_n(f_i, g_i)(z)} \left(\frac{zI_n''(f_i, g_i)(z)}{I_n'(f_i, g_i)(z)} + c + 2 \right)}{\frac{zI_n'(f_i, g_i)(z)}{I_n(f_i, g_i)(z)} + c + 1} = \sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i). \quad (2.4)$$

We define the regular function p in U by

$$p(z) = -\frac{zI_n'(f_i, g_i)(z)}{I_n(f_i, g_i)(z)}, \quad (2.5)$$

and $p(0) = 1$. Differentiating $p(z)$ logarithmically, we obtain

$$-p(z) + \frac{zp'(z)}{p(z)} = 1 + \frac{zI_n''(f_i, g_i)(z)}{I_n'(f_i, g_i)(z)}. \quad (2.6)$$

From (2.4), (2.5) and (2.6) we obtain

$$p(z) + \frac{zp'(z)}{-p(z) + c + 1} = \sum_{i=1}^n \alpha_i \left(-\frac{zf_i(z)'}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i). \quad (2.7)$$

Let us put

$$\Psi(u, v) = u + \frac{v}{-u + c + 1}. \quad (2.8)$$

From the hypotheses of Theorem 2.1, (2.7) and (2.8) we obtain

$$\begin{aligned} \Re\{\Psi(p(z), zp'(z))\} &= \sum_{i=1}^n \alpha_i \left(-\Re \frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left\{ \Re \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) \right\} + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i) \\ &> 1 - \sum_{i=1}^n (\alpha_i + \gamma_i) = 0. \end{aligned} \quad (2.9)$$

Now we proceed to show that

$$\Re\{\Psi(is, t)\} \leq 0, \quad \left(s, t \in \mathcal{R}; t \leq \frac{-(1+s^2)}{2} \right).$$

Indeed, from (2.8), we have

$$\Re\{\Psi(is, t)\} = \Re \left\{ is + \frac{t}{-is + c + 1} \right\} = \frac{t(c+1)}{s^2 + (c+1)^2} \leq -\frac{(1+s^2)(c+1)}{2[s^2 + (c+1)^2]} < 0. \quad (2.10)$$

Thus, from (2.9), (2.10) and by using Lemma 1.1, we conclude that $\Re\{p(z)\} > 0$, and so

$$-\Re \left\{ \frac{zI_n'(f_i, g_i)(z)}{I_n(f_i, g_i)(z)} \right\} > 0.$$

that is $I_n(f_i, g_i)(z)$ is starlike .

Next, we place conditions for the integral operator $I_n(f_i, g_i)$ to be in the class $\Sigma_N(\lambda)$.

Theorem 2.2. For $i = 1, 2, \dots, n$, let $f_i, g_i \in \Sigma$, $\alpha_i, \gamma_i \geq 0$ and let $c > 0$. If $f_i \in \Sigma^*(\delta)$, $g_i \in \Sigma_k(\delta)$, and

$$\sum_{i=1}^n (\alpha_i + \gamma_i) > \frac{c+1}{1-\delta}, \quad (2.11)$$

then $I_n(f_i, g_i)(z) \in \Sigma_N(\lambda)$, $\lambda > 1$.

Proof. Equivalently, (2.3) can be written as

$$\frac{-\left(\frac{zI_n''(f_i, g_i)(z)}{I_n'(f_i, g_i)(z)} + 1\right) - c - 1}{\frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} + 1} = \sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i). \quad (2.12)$$

Therefore

$$\begin{aligned} -\left(\frac{zI_n''(f_i, g_i)(z)}{I_n'(f_i, g_i)(z)} + 1\right) &= \frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} \left[\sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i) \right] \\ &\quad + \sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + c + 2 - \sum_{i=1}^n (\alpha_i + \gamma_i). \end{aligned} \quad (2.13)$$

Taking real part of both sides of (2.13), we obtain

$$\begin{aligned} -\Re \left(\frac{zI_n''(f_i, g_i)(z)}{I_n'(f_i, g_i)(z)} + 1 \right) &= \Re \left\{ \frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} \left[\sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + 1 \right. \right. \\ &\quad \left. \left. - \sum_{i=1}^n (\alpha_i + \gamma_i) \right] \right\} + \sum_{i=1}^n \alpha_i \left(-\Re \frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \Re \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + c + 2 \\ &\quad - \sum_{i=1}^n (\alpha_i + \gamma_i) \\ &\leq \left| \frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} \left[\sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + 1 \right. \right. \\ &\quad \left. \left. - \sum_{i=1}^n (\alpha_i + \gamma_i) \right] \right| + \sum_{i=1}^n \alpha_i \left(-\Re \frac{zf_i'(z)}{f_i(z)}\right) + \sum_{i=1}^n \gamma_i \Re \left(-\frac{zg_i''(z)}{g_i'(z)} - 1\right) + c + 2 \\ &\quad - \sum_{i=1}^n (\alpha_i + \gamma_i). \end{aligned} \quad (2.14)$$

Let

$$\lambda = \left| \frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} \left[\sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i) \right] \right| \\ + \sum_{i=1}^n \alpha_i \left(-\Re \frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \Re \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + c + 2 - \sum_{i=1}^n (\alpha_i + \gamma_i).$$

Since $\left| \frac{(c+1)I_n(f_i, g_i)(z)}{zI_n'(f_i, g_i)(z)} \left[\sum_{i=1}^n \alpha_i \left(-\frac{zf_i'(z)}{f_i(z)} \right) + \sum_{i=1}^n \gamma_i \left(-\frac{zg_i''(z)}{g_i'(z)} - 1 \right) + 1 - \sum_{i=1}^n (\alpha_i + \gamma_i) \right] \right| > 0$, $f_i \in \Sigma^*(\delta)$, $g_i \in \Sigma_k(\delta)$, then we have

$$\lambda > c + 2 - (1 - \delta) \sum_{i=1}^n (\alpha_i + \gamma_i).$$

Then, by the hypothesis (2.11), we have $\lambda > 1$. Therefore, $I_n(f_i, g_i)(z) \in \Sigma_N(\lambda)$, $\lambda > 1$.

If we set $\gamma_i = 0$ in Theorem 2.2, then we have [8, Theorem 2.6].

Further, Putting $c = 1, \gamma_i = 0$ in Theorem 2.2, we get

Corollary 2.3. For $i = 1, 2, \dots, n$, let $f_i \in \Sigma$, $\alpha_i \geq 0$. If $f_i \in \Sigma^*(\delta)$, and

$$\sum_{i=1}^n \alpha_i > \frac{2}{1 - \delta},$$

then $\mathcal{H}_n(z) \in \Sigma_N(\lambda)$, $\lambda > 1$.

In addition, taking $c = 1, \alpha_i = 0$ in Theorem 2.2, we receive

Corollary 2.4. For $i = 1, 2, \dots, n$, let $g_i \in \Sigma$, $\gamma_i \geq 0$. If $g_i \in \Sigma_k(\delta)$, and

$$\sum_{i=1}^n \gamma_i > \frac{2}{1 - \delta},$$

then $\mathcal{H}_{\gamma_1, \dots, \gamma_n}(z) \in \Sigma_N(\lambda)$, $\lambda > 1$.

Acknowledgement:

The work here is supported by UKM-DLP-2011-050 and LRGS/TD/2011/UKM/ICT/03/02.

References

- [1] M.L. Mogra, T.R. Reddy, O.P. Juneja, Meromorphic univalent functions with positive coefficients, *Bull. Austral. Math. Soc.*, 32 (1985), 161-176.

- [2] S.K. Bajpai, A note on a class of meromorphic univalent functions, *Revue Roumaine de Mathématiques Pures et Appliquées*, 22 (1977), 295-297.
- [3] S.S. Bhoosnurmath, S.R. Swamy, Certain integrals for classes of univalent meromorphic functions, *Ganita*, 44 (1993), 19-25.
- [4] A. Dernek, Certain classes of meromorphic functions, *Ann. Univ. Mariae Curie-Sklodowska Sect. A* 42 (1988), 18.
- [5] S.P. Dwivedi, G.P. Bhargava, S.L. Shukla, On some classes of meromorphic univalent functions, *Revue Roumaine de Mathématiques Pures et Appliquées*, 25 (1980), 209-215.
- [6] R.M. Goel, N.S. Sohi, On a class of meromorphic functions, *Glasnik Mat. Ser.*, III, 17 (37) (1981) 19-28.
- [7] D. Breaz, S. Owa, and N. Breaz, A new integral univalent operator, *Acta Univ. Apulensis Math. Inform.*, 16 (2008), 11-16.
- [8] B.A. Frasin, On an integral operator of meromorphic functions, *Matematički Vesnik*, 64(2) (2012), 167-172
- [9] A. Mohammed and M. Darus, A new integral operator for meromorphic functions, *Acta Universitatis Apulensis*, 24 (2010), 231-238.
- [10] A. Mohammed and M. Darus, Starlikeness properties of a new integral operator for meromorphic functions, *Journal of Applied Mathematics*, Vol. 2011, Article ID 804150, 8 pages, 2011.
- [11] A. Mohammed and M. Darus, Integral operators on new families of meromorphic functions of complex order *Journal of Inequalities and Applications*, 2011:121 doi:10.1186/1029-242X-2011-121
- [12] S. S. Miller and P. T. Mocanu, Differential subordination and univalent functions, *Michigan Math. J.*, 28 (1981), 157-171.
- [13] Zhi-Gang Wang, Yong Sun and Zhi-Hua Zhang, Certain classes of meromorphic multivalent functions, *Computers Math. Appl.* 58 (2009), 1408-1417.
- [14] Z. Nehari and E. Netanyahu, On the coefficients of meromorphic schlicht functions, *Proc. Amer. Math. Soc.* 8(1957), 15-23.